MUSTANG
;:_,'— MOUNTING SUGGESTIONS

Harley-Davidson® FLHT and FLTR 1997-2007 Cyclone Solo
Seat and Frame Mounting Plate

Hardware: #B30125 steel nose bracket x1

(Included) 5/8" thick rubber bumpers x2
1/4"-20x3/4" long screw and washer x1
1/4"-20x1/2" long screws x2
1/4"-20x1-1/2" long screws with washers x2
1/4"-20 chrome acorn nuts with chrome washers x2

Install Cyclone solo seat onto frame mounting plate:

1. Attach nose bracket #B30125 to bottom of
Cyclone seat using the two 1/4"-20x1/2" long
screws.

2. The 1/4"-20x3/4" long screw with a flat washer
must be inserted through the frame mounting
plate from the bottom, and then into the threaded
hole in the nose bracket.

3. The two 1/4"-20x1-1/2" long screws and washer
must be inserted through the frame mounting
plate from the bottom, then through the two 5/8"
thick rubber bumpers, and finally into the two
threaded inserts toward the rear of the solo seat.

800-243-1392/413-668-1100 HANDCRAFTED IN THE USA MUSTANGSEATS.COM




4. Tighten all three screws.

Install frame mounting plate onto bike frame.

1. Slide the nose tab on bottom of frame
mounting plate into the hole in the bike frame
just behind the gas tank.

2. Align the two rear mounting holes with the two
1/4"-20 threaded studs in the front of the rear
fender.

3. Attach frame mounting plate to bike using the
two 1/4"-20 chrome acorn nuts with chrome
washers.

800-243-1392/413-668-1100 HANDCRAFTED IN THE USA MUSTANGSEATS.COM



These steps are quidelines to help you install your new Mustang
product. If you need further assistance, please call us at 800-243-
1392 or 413-668-1100, Monday through Friday 8:30 - 5:00 Eastern
or send an e-mail to tech@mustangseats.com or visit our website

at www.mustangseats.com.

For care and maintenance of our seats, please go to our
website under "Support".

Refers to part numbers: 76615, 76616, 76617, 76618, 76621

Frame mounting plate: 76622

Products made by Mustang Motorcycle Products, LLC are
warranted for one year against defects in material and
workmanship. Mustang must first be notified of any apparent
defect. A return authorization will be issued. Carefully pack the
product and return prepaid. Upon receipt, Mustang will make a
fair, prompt decision regarding repair or replacement.
Incidental and consequential damages arising from or in
connection with the installation or use of a Mustang product
are not covered by this warranty. An original purchase receipt
must be provided to obtain a warranty repair or replacement.

800-243-1392/413-668-1100 HANDCRAFTED IN THE USA MUSTANGSEATS.COM


mailto:tech@mustangseats.com
http://www.mustangseats.com/

